Consolidation work 3 - Second Level *

Please show working/strategy for questions in red.

Questions in blue have not yet been covered in P4 or are to be taught in P5 (Second Level)

1. 6963 + 100

2.

A teacher buys 5 packets of biscuits for a party. Each packet has 8 biscuits in it. A

packet of biscuits costs £1.60.

8.

9.

a) How much does the teacher spend on biscuits altogether?

b) What is the cost per biscuit?

What value is the 5 in the number 5984.2?
5 thousands 5 hundreds 5 tens 5ones b5 tenths
Round 285 to the nearest ten.

Order the numbers, starting with the smallest number. 2635, 8564, 2365, 8546

Find 2/3 of 90.

Neighbours starts at 2.15pm and finishes at 2.40pm. How long is the show?

Write the digital time for quarter to 8 in the morning.

Write the coins and notes to make £9.38

10. What is the perimeter of a rectangle with length 6cm and breadth 3cm?

11. In the long jump competition, one child jumps 2mé65cm. Another child jumps 180cm.

What is the difference in length between the two jumps?

12. Write 0035 hours in digital time, using the terms am/pm.



13.
14.

15.

16.
17.
18.

19.

What do we call an angle that is greater than 180 degrees?

How many millilitres in 3 litres?

Name this shape. E

What is the angle marked a? 135°

a

Complete the sequence: 5.0, 5.25,5.5, ,
35+42-=

Werite # as a decimal?

,6.25,



